These are examples of the Arabic placement test

Please select the correct answer in the following questions:

1- Inresponse of ”(&A-C (-’BU-J\”, people usually say:

a) h.QJ“.w.S
b) 4l el

¢) el S

2- Inresponse of “7) 9= u“"‘— CCDJA", people usually say:

a) MW\&Q
b) Le&yad

c) S

Read the following passage (I.D.) and answer the questions that follow it. Please select the
correct answer for each question.
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In the above “Identification Card”, we understand that
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In the first paragraph, we understand that
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In the second paragraph, we understand that
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In the third paragraph, we understand that
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Choose the appropriate vocabulary in the following sentences:
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Key Answers:

Answers (Key)

A
1
2
3
4
5
6 A
7 A
8
9
10
11 A
12
13
14
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